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Legislature which enacts the law depriving 3. 
a man of his personal liberty must be 
empowered to make that law under 
Article 246 of the Indian Constitution.

Select the correct answer using the codes 
below:

1 Only(a) 

2 and 3 Only(b) 

1 and 3 Only(c) 

None(d) 

With reference to the Tribunals in India, 59. 
which of the following statements is/are 
correct?

The original Constitution did not contain 1. 
any provision with respect to the 
Tribunals.
42nd Constitutional Amendment Act 2. 
deals with Tribunals.
Central Administrative Tribunal (CAT) 3. 
has Original Jurisdiction in relation with 
recruitment of the Public Servants.

Select the correct answer using the code given 
below:

1 and 3 only(a) 

2 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

Consider the following statements related 60. 
to the Representation of Peoples Act:

The Representation of Peoples Act, 1951 1. 
provides election for Houses of Parliament 
only.
Provisions as to disqualifi cation on 2. 
ground of defection are mentioned in 
Representation of Peoples Act.

Which of the above statements is/are 
incorrect?

1 only(a) 

2 only(b) 

Both 1 and 2 (c) 

Neither 1 nor 2(d) 

With reference to the Linguistic Minorities, 61. 
consider following statements:

Linguistic minorities are determined on a 1. 
National Basis.

Originally, the Constitution of India did 2. 
not make any provision with respect to the 
Special offi cer for Linguistic Minorities. 
Constitution does not specify service 3. 
conditions of the Special Offi cer for 
Linguistic Minorities.

Which of the above statements is/are correct?

2 only(a) 

1 and  2 only(b) 

3 only(c) 

2 and 3 only(d) 

Consider the following statements with 62. 
respect to Union Public Service Commission 
(UPSC):

UPSC is a ten-member body including its 1. 
Chairman.
Members of the UPSC submit resignation 2. 
to the Prime Minister. 
UPSC recommends criteria for reservation 3. 
of seats for appointments of backward 
classes in the Government.

Which of the above statements is/are correct?

1 and 2 only(a) 

3 only(b) 

2 and 3 only(c) 

None (d) 

With reference to the State Reorganization 63. 
Commission 1953, which of the following 
statements is/are correct?

It was headed by Sardar Patel.1. 
On recommendation of this commission 2. 
initially Indian Union was made of sixteen 
states.
Special safeguards were recommended 3. 
for linguistic minorities. 

Select the correct answer using the code given 
below:

1 only(a) 

2 and 3 only(b) 

3 only(c) 

1 and 3 only(d) 

Match the following pairs:64. 
 Amendments DPSP Added

421. nd Amendment A. Opportunities for  
  healthy    
  development of  
  children.


